L1 BEE URPRERIRFA@EA(IE IR [ 1 4)

106 F#R »5F23*
AL S| Aa: . ;’f %zﬁ gj 52 .a;j{ " .
v v # Frl -1 =111 |-
2% o R I-IV 16 4 | 4 | 4| 4 [ AMB
#2 1-VI 12 2 2 2 2 | 2| 2
BE R |58 11T 8 4 4 OAOBMc s
e 2 1 1 JAM B [C
abg A (B2 2 11 BAD B
T sagpig I | 2 1| 1 |MAOEB
AL 2 2 A BMC
;}t pARAEE | A S 1 1 MA [ B [C
L A 1 1 [MAB[C
B 3110 2 1 1
“ Fj I8
e B 1 I 2 1 1
B s 2 2 B AMKA
4 EARR
Nt ER | 2 1 1
wp e T I-VI 12 2 2 1 2| 2 2 2
WA g e |1 1 1
L 2R HT I 2 1] 1
D 70 21 | 17 | 10 | 10 | 6 6 |FFTe— AP 70 54
B 11 4 2 2
E perell 4 )
;j P48 11 4 2 2
N R 4 2 | 2
AN 16 6 6 2 2 [FRaeipREHMP 1654
WAWMF Yy IO 6 3 3
B lpwsas v E
T lpregry 3 3
n | 3 12 6 6 HES S BF SR VE 95
3 b 28 6 6 6 6 2 2
R 3t 98 27 | 23 | 16 | 16 | 8 8 [Frasiziitos gL




%1

B

AR EKEFP

106 % & & » H 374 3 »

C R A FERFEERE (3D

E A2 | oL p i * = * u L
* 2 7 -ga | n-o#a | go#x i -
z # 5 n z # g5 - = - = - =
_ Lipm 2 2
) w108 A s IV 8 4
ol s a3 - A 10
1 ‘1 ¥ | 10 2 | 4| 4 i | f *
2 /o
; ES HEEE 2 2
Z ¥ 284
1%
! ) 3 2 2 T gk EfLD 2H A
%i N EayirI O 6 3 3
’ NEEELEER RN 6 3 | 3
CNFS e lme ey 10 | 8 4 | 4
F 10. 4% Y R
Bl g 2 # |20 | 3|3 |4a|a]|s]3s i PR 20
& % i & & & & ¥ [32 | 3| 7| 8| 8] 3 3
RE L 10 8 4 4 |-E- ,FEpAFr L8y
B2 VVI 8 4 4 |~
AdE 11 4 2 2 B TEY ]
FrRAID 4 2 2 ~
_ B2 %110 4 2 2 SE- ,EEY 28~ 547
" P NERREL I LAl 4 2 | 2 ~
T i | 28 £ 4 IEERRR 4 p) 2 |-E-,EEH2EAEAE
| 146% [gzpa 10 4 2 2 |»
iE a FEE =B 8 4 4 |-%- ., 589485588
B BB 11 8 4 4 |~
2 EAP I 2 1 1
AL BREBE L& 28 GrEi) - PP 68 FA
4 LR A
i BRR L 4 212 o5 sgmass
% f b bk 1T 4 2 12 17, yan.
x| ggn [1feer 1T 4 2 | 2 /‘
42 [BEMm T 2 1 1
. | F 1FEEHIN 2 1] 1
Bl BEBEAKLY | 6 FemE b 40 B 16 20
BHRARSE Y IV 6 3 3
I L DR 4 2 | 2
FrREERY IO 4 2 2 - E2EH2EL
p i HHEREFY IO 4 2 2 P E 4B .
|68 s R gy IO 6 3 3 |-&E- EHH3IFL
) 13.5% D RAEHHEFFYIN | 6 3 | 3 [~xe8n-
B Ry ps g Bk |
p EL/@W bﬁﬁﬁlﬁ?ﬂaa 6 3 3 E- S EEPIFL
oI ER Y 10 6 3 18 1 gun.
FREY 1D 6 3 | 3 | °
BEBSE L & |3 26 PEEGF ¥ 1P BR B FL
Ry ke 62 2 | 8| 8 | 21| 21 |[RiEsRRI12EA
RS S U S I 94 | 5 | 9 | 16 | 16 | 24 | 24
G - S S 192 | 32 | 32 | 32 | 32 | 32 | 32
A A G S == A 0-8 0 0 0 0 0 0
@i £ 8 71 ¢ 6 1 1 1 1 1 1 g fprtgs
il B o6 % #1222 | 2| 2| 2|2 2 |wifiprPELs
= & ® ¥ KR & #| 210 | 35 | 35 | 35 | 35 | 35 | 35




